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Across
  1	 Point formed by two 

intersecting curves — 
point of transition (4)

  3	 Insisted upon (8)
  8	Clarified pig fat (4)
  9	Area of a river where the 

water is not deep (8)
11	 Get no result (4,1,5)
14	Type of beetle that feeds 

of stored grain etc (6)
15	 Discard — bog (6)
17	 Fellow-feeling (10)
20	Soft running shoes (8)
21	 Food (slang) (4)
22	Trusty (8)
23	Public school near 

Windsor (4)

Down
  1	 Become more tranquil 

(4,4)
  2	 Came up (for air) (8)
  4	Expel air from the lungs 

(6)
  5	 After much delay (2,4,4)
  6	Arab sailing boat (4)
  7	 Medicate (4)
10	The Golden State (10)

12	 Belt up! (informal) (3,2,3)
13	 Down the hatch! (4-4)
16	Winding like the thread of 

a screw (6)
18	Asterisk (4)
19	Auditorium (4)

Solution no 14,032
E V E R Y C L O U D H A S

I I O L O V
B R A G B A D B L O O D

T H B E P W
O U T T O L U N C H

O E I G
A U P A I R B A N G O R

S L R T
C O N V I C T I O N

A O U S A T
O N T H E D O T K N O W

T O G O E W
A S I L V E R L I N I N G


